
Lee 5
+ Connecting systems with in variables and R"

Ex. 2X-y =1Suppose (7, 4) = (K, B) is a solation
X+y =50

Then (a, as can be a vector in Pa + p.Is]
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Intersection between 3 planes & Row picture

Linear combination * Column picture
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Dot products?
- Normal vectors to those planes ?- "Nomal form"

Greverie case

Amdm = b,

anox, + ... + Aumkm = ba

Column picture is in R'

- Row picture is in RM

If ham, we say the system is
"standard form'

In R$
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Vector form:

X, * Kind of already a edution.
Solving a system could, be
changing from staudard force
хо vector form

#'Dot product properties
Let it, weR", cER, then
Й.(J+й) = й-V + й-ш

3. (Ci) -V = c (§ -v)
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